
FOOSBALL
Parts Lists 

Fo
os 2

00

Pro Fo
os II

 - S
td

Pro Fo
os II

 - D
eluxe

Pro Fo
os II

I H
ome

Pro Fo
os II

I C
oin

Part # Description

201-0064-0 Red Soccer Man Hole Diam For Chrome Rod *

201-0068-0 Black Soccer Man Hole Diam for Chrome Rod *

201-0001-0 Shelti-Soccer Man Red with Weights * * * *

201-0005-0 Shelti-Soccer Man Black with Weight * * * *

201-0007-0 Yellow Balls o * * * *

201-0059-0 Red Ball o o o o o

201-0071-0 Orange Ball *

210-0002-0 Super Lube-Foosball Rod Lube 51014 7ml bulk oiler * * * * *

201-0063-0 Handles-Foosball,Blk.TPE, Thermal Plastic handles * *

003-0007-1 Foosball Wood Handle (Drilled) * * *

205-0081-0 SpirolPinFoosHandle/RodM4x26mm * *

205-0006-0 Spirol Pin Foosball M4x35mm Men to Rods * * * * *

210-0012-0 Spirol Pin Punch 2.5" Length plus or minus .125" * * * * *

102-0070-0 Rod Block * * * * *

203-0002-1 Shelti-Rubber Bumper REV-1 shorter length * * * * *

201-0011-1 Short Bearing *

201-0003-3 Long Bearing * * * *

AS-PTA-0 Playfield Trim Assy (2/table needed) * * * * *

205-0008-0 5-Man Rod Chrome * *

205-0009-0 2-Man Rod  Chrome * *

205-0010-0 3-Man Rod Chrome * *

205-0011-0 Goalie Rod Chrome * *

ES-2RA-1 2-Man Rod Assy. - Chrome Rods w/ Black Handles * *

ES-3RA-1 3-Man Rod Assy. - Chrome Rods w/ Black Handles * *

ES-GRA-1 Goalie Rod Assy - Chrome Rods w/ Black Handles * *

ES-5RA-1 5-Man Rod Assy. Chrome Rods w/ Black Handles * *

205-0119-0 5-Man Rod Stainless QPQ * * *

205-0120-0 2-Man Rod Stainless QPQ * * *

205-0121-0 3-Man Rod Stainless QPQ * * *

205-0122-0 Goalie Rod Stainless QPQ * * *

AS-5RA-0 5 Man Rod Assembly Stainless & Wood Handle * * *

AS-3RA-0 3 Man Rod Assembly Stainless & Wood Handle * * *

AS-2RA-0 2 Man Rod Assembly Stainless & Wood Handle * * *

AS-GRA-0 Goalie Rod Assembly Stainless & Wood Handle * * *



FOOSBALL
Parts Lists 

Fo
os 2

00

Pro Fo
os II

 - S
td

Pro Fo
os II

 - D
eluxe

Pro Fo
os II

I H
ome

Pro Fo
os II

I C
oin

201-0006-0 Score Posts Foos 200 *

205-0007-1 Score Rods - Foos 200 *

201-0132-0 Red Score Beads Foos 200 *

201-0133-0 Black Score Bead Foos 200 *

003-0002-0 Red Score Beads Tumbled In Red Enamel (Set of 5) *

003-0003-0 Black Score Beads Tumbled In Black Enamel (Set of 5) * * * *

003-0004-0 Shelti-Score Posts Tumbled in black enamel  (Set of 2) * * * *

205-0007-0 Score Rods ( Set of 2) * * * *

CS-SPA-0 Wood Scoring Assy-Red (4 red beads, 1 blk bead) * * * *

CS-SPB-0 Wood Scoring Assy-Black(4 blk beads, 1 red bead) * * * *

GS-SSL-0 Left Leg Assy-Foos200-Metal

GS-SSR-0 Right Leg Assy-Foos200-Metal

GS-SSL-1 Left Leg Assy - 200 Vinyl wraped MDF  *

GS-SSR-1 Right Leg Assy - 200 Vinyl wraped MDF *

CS-SSL-0 Shelti Soccer Leg Assembly *

AS-SSL-0 Left Soccer Leg Assembly * * *

AS-SSR-0 Right Soccer Leg Assembly * * *

302-0002-0 5/16" Hex Nuts-Zinc Plt. * * * *

303-0002-0 5/16" USS Flat Washer * * * *

201-0074-0 Leg Leveler M16 Thread w/rubber pad * * * * *

305-0007-0 M16-Round Base T-Nut - 3 Holes * * * * *

304-0002-0 #8 x 1 1/4" Pan Phil Tap Screw Zinc Plt. * * * * *

GS-PFA-0 FOOS-200 Playfield *

CS-PFA-01-01-1 Playfield - Pro Foos II & Pro Foos III * * * *

306-0001-0 Push Lock - Keyed A Like 521 * *

306-0002-0 Foosball Coin Box Lock; push lock, not keyed alike *

306-0006-0 Key for 521 lock - key only * *

205-0014-0 Cabinet Hinge Part - A * *

205-0015-0 Cabinet Hinge Part - B * *

210-0151-0 Vert8-CoinSlideUSQuartSet$1.00 *

210-0021-0 Rules Chart * * * * *

FSG-Y-00 Foosball SingleGoalie Retrofit Kit - Fits all models o o o o o


	Sheet1

